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PART B: Displacement of Mass 1 with No Forcing.
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PART B: Displacement of Mass 2 with No Forcing.
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Displacement

PART C: Displacement of Mass 2 with f(t) = 2sin(1.4t)
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Displacement

PART C: Displacement of Mass 1 with f(t) = 2sin(1.4t)
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Displacement

PART C: Displacement of Mass 1 with f(t) = 2sin(t)

1.5

-1.5

4 q
0] 0]
(0] :
0] j
0] .
@ o]
(0] 0]
o ()]
[0} 0]
(0] (0]
) (0]
0]
(0] D
0]
q
D
| 1 1 1 | 1 | 1
10 15 20 25 30 35 40 45 50

Time \/



Displacement

PART C: Displacement of Mass 2 with f(t) = 2sin(t)
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Displacement
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PART C: Displacement of Mass 1 with f(t) = 2sin(10t)
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PART C: Displacement of Mass 2 with f(t) = 2sin(10t)
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